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Question 1

Social object of audit means

25T AR SITNGE SOy =

Question 2

From which word Audit has been originated ?

2SR (AT 1 BT’ (FI *37 (AF G NG ZA( ?

Question 3

Non- statutory audit is applicable

WG 25T NI AT F1 =

Question 4

Voucher includes
OIGHE TBGS B

Question 5

Clerical errors mean

PP O =

Question 6

When a business is not managed profitably, goodwill is termed as
PR IM AOGNPOIR ATEIT® N 2 O N (Goodwill) IH6

Question 7

The verification of asset implies

TG MDY MEIRFACR L =

Question 8

The valuation of inventories is done at
J\9\© ANY A Pl Y|

Question 9

Example of Contingent assets includes

RIS SR R  REACIIETER T

Question 10



Purpose of investigation means
B SRR AR EACAZL T

Question 11

Depreciation occurs due to
HIGEF FILV R

Question 12

General reserve is created with the object of

SR STfBRS 537 Sy =

Question 13

Source of Divisible Profits includes

JONCAI5T YNTHIF O =

Question 14

Dividend paid out of capital means
TETH (ATH TGN AR o =T

Question 15

Negative report of auditor

AfSFe A NPpLF ARSI

Question 16

Object of management of accounting includes-

ATIEIT ARV BT =e-

Question 17

Inventory Rs. 2,00,000, Sundry Debtors Rs. 2,00,000, Creditors Rs. 1,00,000. So, working capital would be-
AFRSDINT NN AT ey 2,00,000 OIBI, (MM (Sundry Debtors) 2,00,000 ET?ST, AIBIL (Creditors) 1,00,000 BIT| 5ef® Vg R(I-

Question 18

Negative working capital means when-
TP HAMS YAYN IACS (R TY-

Question 19

Working Capital depends on-
FRIFF YA AT 5T FR-

Question 20

Total current assets Rs. 1,00,000, total current liabilities Rs. 50,000, the current ratio would be-

(G e ST ANV 1,00,000 BI<FT, (NG Be1i® AITIF ANV 50,000 BIFT, HeI® WHATS (current ratio) 2(I-



Question 21

Fixed Assets Rs. 2,00,000, Current Assets Rs 1,00,000, Current Liabilities Rs 50,000, Net Profit Rs. 10,000. The return on capital employed would be-
FI TS 2,00,000 BIFT, Ha1f® TS 1,00,000 BT, G AT 50,000 BIFT, N6 AT 10,000 BT, RINTHIGrS YAYTHI BHF FCIF =K (ROCE) X(I-

Question 22

Profitability ratio means-
O WG HUT NI NS JACS (JTT-

Question 23

Fund means-

©3fJe 2-

Question 24

Cash Flow Statement shows-
N9 A1 AN (TATe-

Question 25

Given the following transactions for investment for a period:
Opening balance Rs. 22,500

Closing balance Rs. 20,000

Sale of investment (Cost Rs. 10,000) Rs. 9,600

Cash outflow in respect of purchase of investment was

RTINS T (1N IH76 ST [NFEHALS @i 964 -
AT EF (G (opening balance) 22,500 BIHT,

WY (G (closing balance) 20,000 GBI,

fRfST9Y /&Y ( cost 10,000 BI<FT ) 9,600 BIFT |
RINTACR IR G ¥9m =0 AR QM= 2

Question 26

Budgetary Control includes-

TG0 ATFY I0o ([RTT-

Question 27

Budget is related to-

TS0 ITH AMH-

Question 28

Break Even Point is calculated with the help of the following formula-
STNI%! i (Break Even Point) (I8 GFta (I g ST F41 2T ©F 24-

Question 29

Sale price per unit Rs. 10, variable cost per unit Rs 7. The P/V ratio would be-
AfS 95 [T T3 10 B, AfS G5 ARITETNA T 7 BIpT | AN WO HYATS (P/V ratio) Z(I-




Question 30

Contribution is calculated with the help of following equation-
SR [N TR GFa (7 STRFINT AT FA1 2T Of 2e-

Question 31

Double entry system of accounting was introduced by

TROIP! RIFL Nglo ATV FIAN

Question 32

The Institute of Chartered Accountants of England and Wales was established in
The Institute of Chartered Accountants of England and Wales Ao =3

Question 33

Clerical errors include
FANF TS G NSYG A

Question 34

The full form of SAP is
SAP FUMB 2T W =4

Question 35

International Accounting Standard Committee was established in
International Accounting Standard Committee oo =3

Question 36

Auditing in Depth means

STOIR Al 2o

Question 37

In India first Company Act was introduced in

CIATS AAN (PN T2 1] F T

Question 38

The full form of CAGI is
CAGI o “yTar = =

Question 39

Balance sheet audit means

TESATAR NI =

Question 40



VVoucher must mention

I EACERIERCIE KSR &)

Question 41

Investigation may be for
NG AW AN

Question 42

The auditor’s liability means
fRPHF WY 00 (@R

Question 43

No depreciation charge leads to
G [T 71 FAF Tl

Question 44

Before declaration of dividend the Board of Directors should consider

TONLH (NI A ARGABA [RIG FAT Bo®

Question 45

Clean report means

fNs*1S ARSI NI

Question 46

The function of management accounting means
HNIBTEN RARIIZR P =

Question 47

Current assets include

BeIf® SIS MBS FR

Question 48

Current Liabilities include

BAfS NI AB9S I

Question 49

Under Gross Working Capital concept
(TG FIAFA YALN KT

Question 50

Sundry Debtors Rs. 1, 00,000, Bills Payable Rs. 50,000.Working capital is
(MNMTE Rs. 1, 00,000, (M I Rs. 50,000, HAf® Y4 X[



Question 51

Positive working capital means

AN F FILFA T4 =T

Question 52

Sources of inflow of cash includes
NN WG AR AFuS Bl

Question 53

Application of cash includes
T ARO[ MBS FA

Question 54

Formula for Proprietary Ratio is

AR S ATS T 5 =

Question 55

Current ratio indicates a relation between
VG| \OWWWW%WSTWW@W

Question 56

Budgetary Control includes

TG NTFT ABHS I

Question 57

Other name of limiting factor is

Question 58

Sales Rs. 4,00,000; Variable cost Rs. 2,00,000; Contribution is
@Y Rs. 4,00,000; HIISNIT ITT Rs. 2,00,000 ; 1IN R

Question 59

The formula for Profit Volume Ratio is
MY QRON FYATTO] 3 R

Question 60

Contribution Rs. 4,00,000; Profit Rs. 1,00,000; Fixed Cost is
TNl Rs. 4,00,000 ; 7w Rs. 1,00,000 ; ﬁ@'mm



